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Define which statements are correct in the following list. Select t
incorrect answer cancels a correct answer.

f ‘
The shape file actually consists of at least three different files that work

-

i

The successive processing steps for automaﬁ?:‘

The toleranca value for cleaning Yot data
unacceptable displacemernts,

§n~screen—digitizing of a printed map.,

ean Squares Error (RMSE) of the map re
> level of error acceptable?

The RMSE is not acceptable because the error in map units is 0.1mm w
e topographic map.
‘accuracy of a topograp
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